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‘ PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
::H sentence. Then mark the correct choice on your answer sheet. .'

1-  The two lawyers ---------- their contract and each opened a separate office.
1) resigned 2) hindered 3) penalized 4) terminated
2-  The police ordered the robbers to —--------- their weapons.
1) cease 2) settle 3) surrender 4) collapse
3-  The nation’s economy was largely -------—— by foreign aid.
1) imported 2) sustained 3) disposed 4) accompanied
4-  Unfortunately the current law -—---— any improvement in the country’s trade with
foreign countries.
1) impedes 2) compels 3) exposes 4) abstains
5-  They are using that hall to hold their party ------ ]
1) juncture 2) convention 3) intersection 4) circumstance
6- Talking about money now would be a ------—-- from the main purpose of this meeting.
1} digression 2) detention 3) disputation 4) dispersion
7-  There have been calls for the drug’s immediate -—----——, following reports that it has
dangerous side effects.
1) protest 2) discharge - 3) disposition 4} suspension
8- I have not read any of the previous chapters of this book, so you will have to give me a
brief -=----=--- :
1) outlook 2) synopsis 3) panorama 4) prospect
9-  Practical experience is an ------—--- part of this course.
1) integral 2) adequate 3) accelerated 4) expository
10- Some of these plants are more --——-- --- to frost damage than others.
1) inherent 2) forthcoming 3) susceptible 4) instrumental

PART B: Cloze Test l\

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet. :

We have said earlier that climates are continuously changing. (11) ----—---- until quite
recently that climates only changed significantly on very long time scales, over tens of
thousands of years. In the more recent past the changes in climate (12) ---------- are a result of
mankind’s own activities. Scientists have been able to reconstruct accurately the average
temperature of the Earth (13) -------— years using millions of individual thermometer readings
(14) -------—---'world. The result seems to suggest that since the end of the 19" century the Earth
has warmed up by about 0.5°C (1 °F ). The warmest years all oceurred in the 1980s. Although it
1s not yet known for certain, (15) ---------- explanation for this global-scale warming is the
increasing volume of pollutant gases that imankind is releasing into the atmosphere.

11- 1) There thought 2) It was thought

12-
13-
i4-

3) It has been thought 4) There has been thought

1) we have seen 2) we saw them 3) that have seen 4) that saw them

1) over 100 last 2) across 100 last 3) over the last 100 4) across the last 100
1) of around 2) from around 3Y of around the 4) from around the

15- 1) likely most 2) most likely 3) the most likely 4) likely the most
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[ Part C. Reading Cﬂmprehensi [

| Then mark it on your answer sheet.

o — e e

PASSAGE 1:

The appearance of prophets affirms the conception of
revelation outlined above. The prophets of God were men who
propagated the call of revelation and prophecy and brought
definitive proofs for their call. They propagated among people
the elements of the religion of God (which is the same divine
law that guarantees happiness) and made it available to all

men.
In other words, if it had been in the very nature of things that it
be the duty of human reason to create a perfect common law
which must provide happiness for human society, and that man
should be guided to that perfect law through the process of
creation and the generation of the world itself, then such laws
would have been apprehended by each human being through
his reason in the same way that man knows what is of benefit or
detriment to him throughout the determined course of daily
life. There is, however, as yet no sign of the presence of such
laws. Laws which have come about by themselves, or have been
devised by a single ruler, or individuals, or nations, and have
become prevalent in different societies are considered by some
as certain, and by others as doubtful. Some are aware of these
laws and others are ignorant of them. Never has it come to pass
that all people, who in their basic structure are the same in that
they are endowed by God with reason, should have a common
awareness of the details of the laws which can bring about

happiness in the world of man.

16- What does the passage mainly discuss?

1) Conception of Revelation 2) Happiness in Man's World

3) Necessity of Prophecy 4} Propagation Among People
17- Which statement is NOT mentioned in the passage about the prophets?

‘1) They presented evidence for their cause.

23 They promoted the law that maintains prosperity.

3) They introduced the elements of God's religion to people.

4) They propagated the ancient stories among people.

18- According to the passage, it is the duty of -—————- the perfect common law to provide
happiness for human society.
1} human reason to create 2) human beings to choose
3) wise men to create 4) prophets to infroduce
19- What does *apprehend’ in the 2nd paragraph refer to?
1) recognize 2) believe 3) assume 4) accept
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20- The author finally concludes that -,
1) some people are aware of the laws that bring about happiness
2) laws devised by a single ruler have become prevalent in societies
3) those endowed by God with reason have a common knowledge of the divine law
4) people do not have a shared knowledge of the laws that bring about happiness

PASSAGE 2:

It has been mentioned before that Islaim has legitimized and
approved rational thought, which it considers a part of rehgmus
thought. Rational thought in its Islaimic sense, after continuing
the prophecy of the Prophet, , provides intellectual
demonstrations of the validity nf the external aspect of the
Qur'an, which is a divine revelation, as well as of the definitely
established sayings of the Prophet and his noble Household.

Intellectual proofs, which aid man in finding solutions for these
problems through his God-given nature, are of two kinds:
demonstration (Burhan) and didlectic Uﬂdaﬂ Demonstration is
a proof whose premises are true (accord with reality) even if
they be not observable or evident. In other words, it is a
proposition which man comprehends and confirms by neeessity
through his God-given intelligence, as for example when he
knows that “the number three is less than four.” This type of
thought is called rational thought; and in case it concerns
universal problems of existence, such as the origin and end of
the world and of man, it becomes known as philosophical

thought.

Dialectic is a proof all or some of whose premises are based on
observable and certain data, as for example the case of believers
in a religion for whom the common practice is to prove their
religious views within that religion by appealing to its certain
and evident principles.

The Holy Qur'an has employed both these methods and there
are many verses in the Holy Book attesting to each type of

proof.

21- What would the best topic be for the above passage?

1} Divine Revelation in the Quran 2) Free Investigation and Meditation
3) Philosophical Thought in Islam 4) Validity of the Holy Quran
22-  According to the passage, Islam has ——-——-— thought, which it considers a part of religious
thought.
1) agreed to practical  2) authorized logical 3) favored insane 4) preferred mental

23- Which statement is NOT true about demonstration?
1) Man can recognize and agree to its assumptions by necessity.
2) Man comprehends and confirms it by necessity.
3) It is a proof whose assumptions correspond to truth.
4) Its premises may not be perceptible.

M}M%“U’)éM)‘W“)UQ‘GW"}&?'@P?



24- If the rational thought ——--—-— problems of existence such as the origin and end of the
world and of man, it is known as philosophical thought.
1) deals with 2 disturbs 3) distracts 4) contrasts with

25- Which statement is NOT mentioned in the passage about ‘dialect’?
1) It can be applied to reject some religious views.
2) Some of its premises depend upon observable data.
3) All of its assumptions may be based on certain data.
4) Religious views can be proved by it within the principles of that religion.

PASSAGE 3:

The Shi‘ites asserted that the Islamic caliphate, of which
esoteric guidance and spiritual leadership are inseparable
elements, belongs to "Ali and his descendants. They also
believed that according to the specification of the Prophet, the
Imams of the Household of the Prophet are twelve in number.
Shi‘ism held, moreover, that the external teachings of the
Qur'in, which are the injunctions and regulations of the.
Shari"ah and include the principles of a complete spiritual life,
are valid and applicable for everyone at all times, and are not to

be abrogated until the Day of Judgment. These injunctions and
regulations must be learned through the guidance of the
Household of the Prophet.

From a consideration of these points, it betomes clear that the
difference between Twelve-Imam Shi‘ism and Zaydism is that
the Zaydis usually do not consider the Im@mate to belong solely
to the Household of the Prophet and do not limit the number of
Imims to twelve. Also they do not follow the jurisprudence of
the Household of the Prophet as do the Twelve-Imam Shi ites.

The difference between Twelve-Imim Shi‘ism and Ismai ilism
lies in that for the latter the Im@mate revolves around the
number seven and prophecy does not terminate with the Holy
Prophet Muhammad—upon whom be blessings and peace. Also
for them, change and transformation in the injunctions of the
Shari ah are admissible, as is' even rejection of the duty of
following the Shari‘ah, especially among the Bitinis.

26- What does the passage mainly discuss?
1) Emergence of Twelve-Imam Shi'ism
2) Particular Rights of the Prophet’s Household
3) Twelve-Imam Shi’ism, Zaydism, and Isma’ilism
4) Injunctions and Regulations of the Shari’ah

27- The Shi’ites == --— that the Islamic caliphate, of which ==eearveee guidance and spiritual
leadership are inseparable elements, belongs io Ali and his descendants.
1) admitted — popular : 2) agreed — familiar
3) declared — confidential 4) maintained — cryptic

18- Which statement is mentioned in the passage as the characteristic of Shi’ism?
1) The injunctions of the Shari’ah cannot be repealed until the day of Judgment.
2) The Quranic injunctions must be learned through the guidelines of the Houschold.
3) The regulations of the Shari’ah include the principles of a complete spiritual life.
4) The Quranic regulations are authentic and applicable for everyone at all times.
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29- Which statement is NOT true about Zaydism?

1) They obey the jurisprudence of the Prophet’s Household.

2) They do not restrict the Imamate to the Prophet’s Household.

3) They do not consider the number of Imams to be twelve.

4} They defy the system of law that belongs to the Household of the Prophet.
30- According to the passage, Isma’ilism asserts that ————- -

1) prophecy does not expire with the Holy Prophet Muhammad (PBUH)

2) it is permissible to change and transform the regulations of the Shari’ah

3) the external aspect of the Shari’ah is possible to abrogate

4) the number of Imams is seven and the Prophet does not have 12 sucessors
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